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1. Kim wrote 12 + 12 + 12 + 12. How else could she write this problem? 

 

A. 4 + 12

B. 12 – 4

C. 12 ÷ 4

D. 4 × 12

 

2. There are 31 students in Mrs. Kelsy’s class. On Wednesday, 10 of those students were absent. How

many students were in class on Wednesday? 

 

A. 20

B. 21

C. 30

D. 41

 

3. José has 2 baseball cards. Together José and Don have 6 baseball cards. Don and Sean together have

10 baseball cards. How many baseball cards does Sean have? 

 

A. 4

B. 6

C. 8

D. 10
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Use the number sentence below to answer question 4

 

8 + 6 + 4 + 2 = 20

 

4. Angie wants to find another way to write the number sentence above. Which of the following is a

correct way to write this number sentence? 

 

A. 6 – 4 – 8 – 2 = 20

B. 6 + 4 + 8 + 2 = 20

C. 8 + 2 – 6 – 4 = 20

D. 6 × 4 × 8 × 2 = 20

 

5. Kenny wants to buy 3 packs of baseball cards. Each pack costs $2.89. About how much money does

Kenny need? 

 

A. $3

B. $6

C. $9

D. $12

 

6. Which number belongs in the  to make the number sentence true? 

 

A. 0

B. 1

C. 9

D. 18
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Use the graphic below to answer question 7

 

 

 

7. Henry must collect 65 cans to get a recycling award. He has already collected 29 cans. How many

more must he collect to get the award? 

 

A. 94

B. 36

C. 34

D. 29

 

8. Which of the following is the same as 4 × 4? 

 

A. 4 + 4 - 4 + 4

B. 4 + 4 - 4 - 4

C. 4 + 4 + 4 + 4

D. 4 - 4 - 4 - 4
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9. Which number sentence below represents this picture? 

 

 

 

A. 8 × 4 = 32

B. 8 + 4 = 12

C. 8 ÷ 4 = 2

D. 8 - 4 = 4

 

10. Rose is trying to use her calculator to solve some number problems, but she sees that the × key

(multiplication key) does not work. How can she still use her calculator to solve 782 × 3? 

 

A. Enter 782 + 3.

B. Enter 782 ÷ 3.

C. Enter 782 + 782 + 782.

D. It is impossible to find the correct answer without the × key.
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11. Angie wants to find another way to write the number sentence below. 8 + 6 + 4 + 3 + 2 = 23 Which

is a correct way to write this number sentence? 

 

A. 6 – 4 – 8 – 2 – 3 = 23

B. 6 × 4 × 8 × 2 × 3 = 23

C. 8 + 2 – 6 – 4 + 3 = 23

D. 6 + 4 + 8 + 2 + 3 = 23

 

12. Which is the BEST estimate for the difference? 

 

A. 8

B. 10

C. 20

D. 60

 

13. What number belongs in the box to make the number sentence below true? 

 

A. 3

B. 6

C. 18

D. 24

 

14. Which number sentence has a product of 54? 

 

A.  

B.  

C.  

D.  
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15. Nam read 11 books in the first grade, 16 books in the second grade, and 18 books in the third grade.

Which is the BEST estimate for the number of books Nam read? 

 

A. 10

B. 30

C. 50

D. 70
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